

(UGC-AUTONOMOUS INSTITUTION) Affiliated to JNTUA, Ananthapuramu & Approved by AICTE, New Delhi NAAC Accredited with A+ Grade, NIRF India Rankings 2024 - Band: 201-300 (Engg.) NBA Accredited - B.Tech. (CIVIL, CSE, ECE, EEE, MECH,CST), MBA & MCA







## **11.4 Sustainable practices**

Metric	Parameter
11.4.8	Planning Development - New Build Standards

#### KAVITHA SHETTY ARCHITECT #234, "GURUPUSHPAM" LAKE SHORE HOMES, KASAVANAHALLI AMRITHAMAYI ROAD, CARMELRAM POST BENGALURU - 560 035 Ph: 080 - 2583 5234, 99723 72334

E-mail: gurusuvidham@gmail.com

# CERTIFICATE FOR THE AVAILABILITY OF ALL WEATHER APPROACH ROADS IN MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE, MADANAPALLE, ANNAMAYYA DIST., AP

This is to certify that I have verified the premises of the college and noticed that all the roads both internal and external including main approach road are provided with weather proof and sustainable from climatic conditions.

Signature of the Architect: Name of the Architect: Registration No:

Seal

1 KAVITHA SHETTY

B.Arch Registered Architect BCC/BL-3.6/A-1662/2007-08 COA REGN NO CA/90/13296

Date: 31/08/2023

Place:

GURUSUVIDHAM ARCHITECTS & ENGINEERS # 234, Gurupushpam Lake Shore Homes, Kasavanahalli, Amrithamayi Road, Carmelram Post Bengaluru - 560 035

# CLASSIFICATION OF LAND CERTIFICATE Dated:31/08/2023

This is to certify that "Madanapalle Institute of Technology & Science" is located in Rural area, in the following Survey Nos.205,206 & 207 Angallu Village,Kurabalakota Mandal, Annamayya District, Andhrapradesh.

2023 AVA DISTRIC

#### **KAVITHA SHETTY** ARCHITECT #234, "GURUPUSHPAM" LAKE SHORE HOMES, KASAVANAHALLI AMRITHAMAYI ROAD, CARMELRAM POST

**BENGALURU - 560 035** Ph: 080 - 2583 5234, 99723 72334 E-mail: gurusuvidham@gmail.com

## **COMPLETION CERTIFICATE**

### Date:31.08.2023

This is to certify that all the buildings pertaining

## to MADANAPALLE INSTITUTE OF TECHNOLOGY &

SCIENCE AtAngallu(V), Kurabalakota (M), Madanapalle-

AnanthapurRoad, Annamayya District-517325 have been completed as per Architectural Drawings & details provided by our office.

**Thanking You** 

**Yours Faithfully** 

mB KAVITHA SHETTY B.Arch

**Registered Architect** BCC/BL-3.6/A-1662/2007-08 GN NO CA/90/13296

(from 8. KAVITHA SHETTY

**Registered Architect** BCC/BL-3.6/A-1662/2007-08 COA REGN NO CA/90/13296

B.Arch

GURUSUVIDHAM ARCHITECTS & ENGINEERS # 234, Gurupushpam Lake Shore Homes, Kasavanahalli, Amrithamayi Road, Carmelram Post Bengaluru - 560 035

### DATE: -08.09.2023

## FIRST AID FACILITY CERTIFICATE

This is to certify that Madanapalle Institute of Technology & Science, Madanapalle, Annamayya District, A.P have provided First Aid Facilities in the college premises.

1/20/9/23

Civil Surgeon Specialist DISTRICT HOSPITAL MADANAPALLE-517 325

#### DATE: -08.09.2023

## **MEDICAL CAMPUS CERTIFICATE**

This is to certify that

Madanapalle Institute of Technology & Science, Madanapalle, Annamayya District, A.P have provided good Medical and Counseling Facilities in the college premises. They are Conducting Medical Awareness, Blood Donation Camps and Medical Counseling Seminars in the college premises.





#### (UGC-AUTONOMOUS INSTITUTION)



Affiliated to JNTUA, Ananthapuramu & Approved by AICTE, New Delhi NAAC Accredited with A+ Grade, NIRF India Rankings 2021 - Band: 201-250 (Engg.) NBA Accredited - B.Tech. (CIVIL, CSE, ECE, EEE, MECH,CST), MBA & MCA

SI. No.	Length	Width	Area in Sqft
1	750	10	7500
2	750	10	7500
3	200	10	2000
4	200	10	2000
5	340	170	57800
6	40	80	3200
	Total		80,000 Sqft (or)
			7442Sqm

#### **DETAILS OF PARKING AREA -2023**

SITE ENGINEER

PRINCIPAL



#### (UGC-AUTONOMOUS INSTITUTION)



Affiliated to JNTUA, Ananthapuramu & Approved by AICTE, New Delhi NAAC Accredited with A+ Grade, NIRF India Rankings 2021 - Band: 201-250 (Engg.) NBA Accredited - B.Tech. (CIVIL, CSE, ECE, EEE, MECH,CST), MBA & MCA

Sl. No.	Length	Width	Area in Sqft
1	750	10	7500
2	750	10	7500
3	200	10	2000
4	200	10	2000
5	340	170	57800
6	40	80	3200
	Total		80,000 Sqft (or)
			7442Sqm

#### **DETAILS OF PARKING AREA -2023**

SITE ENGINEER

PRINCIPAL

# PARKING PHOTOGRAPHS









# PARKING PHOTOGRAPHS











#### KAVITHA SHETTY ARCHITECT #234, "GURUPUSHPAM" LAKE SHORE HOMES, KASAVANAHALLI AMRITHAMAYI ROAD, CARMELRAM POST BENGALURU - 560 035 Ph: 080 - 2583 5234, 99723 72334 E-mail: gurusuvidham@gmail.com

CERTIFICATE FOR THE AVAILABILITY OF FREE ENVIRONMENT AND TOILETS CREATED FOR PHISICALLY CHALLANGED IN MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE, MADANAPALLE, ANNAMAYYA DIST., AP

This is to certify that I have verified the premises of the college and found that the college has provided Free Environment and Toilets created for Physically Challenged people for their use without feeling any difficulty.

Signature of the Architect: Name of the Architect: Registration No:

Seal

KAVITHA SHETTY **B.Arch** 

Registered Architect BCC/BL-3.6/A-1662/2007-08 COA REGN NO CA/90/13296

Date: 31/08/2023

Place:

**GURUSUVIDHAM** ARCHITECTS & ENGINEERS # 234, Gurupushpam Lake Shore Homes, Kasavanahalli, Amrithamayi Road, Carmelram Post Bengaluru - 560 035

### FACILITIES FOR DISABILITY & ELDERLY PERSONS

### **1.PROVIDED 4 no's ELEVATOR'S**



### 2.PROVIDED RAMPS



### **3.PROVIDED BARRIER FREE**



# MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE 4.PROVIDED PLATFORM BRIDGES





MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE							
	RAMP DETAILS						
S.no	Location	No's	RAMP WIDTH				
1	Eastern Building	1	1.3m				
2	Western Building	1	1.3m				
3	Southern Building	1	1.75m				
4	Circular Building	1	1.8m				
5	Library	1	1.4m				
6	Research Building	2	1.3m				
	Total	7					

MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE						
RAMP DETAILS						
S.no	Location	No's	RAMP WIDTH			
1	Eastern Building	1	1.3m			
2	Western Building	1	1.3m			
3	Southern Building	1	1.75m			
4	Circular Building	1	1.8m			
5	Library	1	1.4m			
6	Research Building	2	1.3m			
	Total	7				

DATE: -08.09.2023

## Sanitary Certificate

"This is to certify that Madanapalle Institute of Technology & Science, Madanapalle, Annamayya District, A.P has provided good sanitization and Medical facilities in the college premises. A full time Doctor and Nurse are available in the campus with 8 beds and the required medicines provided free of cost to the students and faculty. A support staff of 15 are regularly working on for a clean & green campus with all the necessary equipment's and tools in place".

Date:-14-07-2023

To Whom It May Concern:

#### STRUCTURAL STABILITY CERTIFICATE

I hereby certify that the constructed building for **"Eastern and Western Block** Ground + 3 Floor located in **Madanapalle Institute of Technology & Science''**, at Angallu village, Kurabalakota Mandal, NH205, Madanaplle, Chittoor District, Andra Pradesh- 517325.

This Structure, I have design by with reference of I.S. code and Structure, has been carried out under my supervision, Structural drawing and I certify that all the materials (type and grade) and the workmanship of the work and structural safety of the building has been in accordance with the general and detailed specifications.

The Building is structurally Sound and safe to bear such an additional loads. I concluded the structure is structurally safety.

Structural Engineer

For C.G. ASSOCIATES

PROPRIETOR KUMAR. C.G B.E.(Civil), M.Tech (Stru.) MISTE BCC/BL-3.6/SE-0349/19-20

Date:-14-07-2023

To Whom It May Concern:

#### STRUCTURAL STABILITY CERTIFICATE

I hereby certify that the constructed building for "Circular Block Ground + 2 Floor located in Madanapalle Institute of Technology & Science'', at Angallu village, Kurabalakota Mandal, NH205, Madanaplle, Chittoor District, Andhra Pradesh- 517325 are inspected by me.

This Structure, I have design by with reference of I.S. code and Structure, has been carried out under my supervision, Structural drawing and I certify that all the materials (type and grade) and the workmanship of the work and structural safety of the building has been in accordance with the general and detailed specifications.

The Building is structurally Sound and safe to bear such an additional loads. I concluded the structure is structurally safety and sound enough.

Structural Engineer

For C.G. ASSOCIATES PROPI TOR KUMAR. C.G B.E. (Civil), M.Tech (Stru.) MISTE BCC/BL-3.6/SE-0349/19-20

Date:-14-07-2023

To Whom It May Concern:

#### STRUCTURAL STABILITY CERTIFICATE

I hereby certify that the constructed building for **"Research Block** Ground + 3 Floor located in **Madanapalle Institute of Technology & Science''**, at Angallu village, Kurabalakota Mandal, NH205, Madanaplle, Chittoor District, Andhra Pradesh- 517325 are inspected by me.

This Structure, I have design by with reference of I.S. code and Structure, has been carried out under my supervision, Structural drawing and I certify that all the materials (type and grade) and the workmanship of the work and structural safety of the building has been in accordance with the general and detailed specifications.

The Building is structurally Sound and safe to bear such an additional loads. I concluded the structure is structurally safety and sound enough.

Structural Engineer



Date:-14-07-2023

To Whom It May Concern:

#### STRUCTURAL STABILITY CERTIFICATE

I hereby certify that the constructed buildings for "Industrial shed I & II, Eastern Canteen (G+1), Western Canteen, Power House (G+1), Forging Lab(G+1), Mess etc located in Madanapalle Institute of Technology & Science", at Angallu village, Kurabalakota Mandal, NH205, Madanaplle, Chittoor District, Andhra Pradesh- 517325 are inspected by me.

This Structure, I have design by with reference of I.S. code and Structure, has been carried out under my supervision, Structural drawing and I certify that all the materials (type and grade) and the workmanship of the work and structural safety of the building has been in accordance with the general and detailed specifications.

These Building are structurally Sound and safe to bear such an additional loads.

I concluded the structure is structurally safety and sound enough.

Structural Engineer

For C.G. ASSOCIATES PROPRIETOR KUMAR. C.G B.E.(Civil), M.Tech (Stru.) MISTE BCC/BL-3.6/SE-0349/19-20

#### C.G. ASSOCIATES.

**Structural Consultants.** # 145, 'A' Cross, 4<sup>th</sup> Main, Havanoor Lay out, T- Dasarahalli, Hesaragatha Road, Bangalore 73. Mobile No-9880088925.

Date:-14-07-2023

To Whom It May Concern:

#### STRUCTURAL STABILITY CERTIFICATE

I hereby certify that the constructed building for "Southern Block Ground + 3 Floor located in Madanapalle Institute of Technology & Science", at Angallu village, Kurabalakota Mandal, NH205, Madanaplle, Chittoor District, Andhra Pradesh- 517325 are inspected by me.

This Structure, I have design by with reference of I.S. code and Structure, has been carried out under my supervision, Structural drawing and I certify that all the materials (type and grade) and the workmanship of the work and structural safety of the building has been in accordance with the general and detailed specifications.

The Building is structurally Sound and safe to bear such an additional loads. I concluded the structure is structurally safety and sound enough.

Structural Engineer

For C.G. ASSOCIATES

PROPRIETOR KUMAR. C.G. B.E. (Civil), M.Tech (Stru.) MISTE BCC/BL-3.6/SE-0349/19-20

#### KAVITHA SHETTY ARCHITECT #234, "GURUPUSHPAM" LAKE SHORE HOMES, KASAVANAHALLI AMRITHAMAYI ROAD, CARMELRAM POST BENGALURU - 560 035 Ph: 080 - 2583 5234, 99723 72334 E-mail: gurusuvidham@gmail.com

# CERTIFICATE ON VECHICLE PARKING SYSTEM IN MADANAPALLE INSTITUTE OF TECHNOLOGY & SCIENCE, MADANAPALLE, ANNAMAYYA DIST., AP

This is to certify that I have verified the premises of the college and found that the college has provided Two Parking Places in the Campus, One for Two Wheelers and another for Four Wheelers

Signature of the Architect: Name of the Architect: Registration No:

Seal

**KAVITHAS** 

B.Arch Registered Architect ECC/BL-3.6/A-1662/2007-08 COA REGN NO CA/90/13296

Date: 31/08/2023

Place:

GURUSUVIDHAM ARCHITECTS & ENGINEERS # 234, Gurupushpam Lake Shore Homes, Kasavanahalli, Amrithamayi Road, Carmelram Post Bengaluru - 560 035